BC-13

December — Examination 2022
B.Com. (Part III) Examination

Management Accounting
Paper : BC-13

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.

et - 7' wea-w ‘e, 9 SR Y| R mvel | fawifsa ®)
YIF WIS h IR U+ & IW ST |

Section—A 2x7=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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Define Management Accounting.
Yol AT hl GRS ity |

Give  three limitations of Financial

Statements.

fofta fommoll =t ®1E @ HEd Sy |

Define the Net Working Capital.

IS wERid St ! aRefa witee |

What is Fund from Operations ?

e | HI F Y ?

What is Management Information System ?
YeRIhd Gl YOt 1 ¥ 2

Give formula of calculating Pay-back Period.

SERRTt srafy fruRer =1 g3 JaRy|

(vii) What is Control Report ?

e fterea w1 § 2
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Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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. What is scope of Management Accounting ?

. Explain A, B, C analysis techniques of Inventory

Management.
=y oy & fau &, 9, 9 fovawor dEwAE F
HHHATRT |

. Explain need/importance of Working Capital.

HTHA STt T ST/ e I FaET |

. From the following information, calculate the

Average Rate of Return using different formula :

fafa= ¥ =1 &M F3d gY STEd I ST T IO

Explain. HifST : 3
ToY @k &S F 7 GHEs | Capital Investment 1,50,000
. Draft horizontal form of Balance Sheet. Average Working Capital 15,000

fog =1 afosia weg SR

4. From the following data calculate average credit

Expected Gross Income :

' I Year 30,000 II Year 36,000
period :
- . IIT year 45,000 IV Year 54,000
frafafaa THea &1 Gedar 9 of9d g @ty I y
Eali i V Year 66,000
Total Purchase ¥ 1,24,000 Sundry Creditors ¥ 10,000 Depreciation per annum X 30,000.
Cash Purchase % 15,000 Bills Payable ¥ 5,000 8. Distinguish between Internal and External Report.
Purchase Return ¥ 5,000 Weeks 52 weeks e Ta =Ml Yfaaed § 95 Sifey |
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9. Distinguish between Cash Flow Statement and
Fund Flow Statement.

Uhs Yae faenor qean wi yare faero § o T
RIS |
Section—C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. What are tools and techniques used in Management
Accounting ? Explain them briefly.

Yo @ | hA-hHY TR Ta dhleh FIN |
o S € ? He H g SHeEy

11. What do you mean by MIS ? What are the
characteristics of MIS ? Explain.
Torg HE TONS § A F WA © 7 o™ {E
JUTER & I AL § 7 FHeS |
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12. From the following information extracted from the
books of manufacturing company, compute the
operating cycle in days and required working

capital :

Tk & w1 = gemiel 9 af=em safa @
viier ot TR e
Period covered 365 days

Average period allowed by suppliers 16 days

Average debtor outstanding 3 24,000
Raw material consumption T 2,55,500
Total production cost % 4,74,500
Total cash operating expenses % 7,30,000

Sales for the year (All credit)

Value of average stock maintained

Raw material T 21,000
WIP % 18,200
Finish goods % 14,000
Cash and bank balance % 20,000
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13. From the following data of XYZ Ltd., prepare

fund flow statement and a schedule of change in

working capital :

XYZ fa. & = 99 ¥ %9 Jae faewor ud s

it # gRen &1 g TR S

Additional Information :

(@) Dividend of ¥ 11,000 was paid during year
2010.

(b) Depreciation charged on Plant was I 7,000.

(¢) Provision for Income Tax made during 2010

Balance Sheet was % 16,500.
Liabilities 2009 | 2010|  Assets 2009 | 2010 AR FA
Share Capital |1,00,000|1,25,000 | Land 1,00,000| 95,000 (&7) = 2010 H T 11,000 1 T FHE |
.. ‘
General reserve | 25,000 30,000 | Plant 75,000| 84,500 () FF R X 7,000 [ TH TN A
(F) = 2010 | 3R 7g T 16,500 HT ASH fHma
P& L A/C 15,250| 15,300 | Stock 50,000| 37,000
TR

Bank Loan 35,000 — | Debtors 40,000 32,100
Creditors 75,000| 67,600 | Cash in Hand 250 300
Provision for Cash at Bank - 4,000
Taxes 15,000 17,500 | Goodwill ~| 2,500

2,65,250(2,55,400 2,65,250 [2,55,400
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